Balanz Vento
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Gas Natural| Gas LP
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Gas Natural| Gas LP

Gas Natural|] Gas LP

Gas Nalura\l Gas LP

Gas Natura\l Gas LP |

Modelo (L/Min) AS=00 = AS=02 AS=03 AS=02 AS=05
ATGud O m - 1000 m_JATitud 1001 m - 1300 m{ATtud 1301 m - 1600 mJARitud 1601 m - 1900 m{ATiud 1901 m - 2200 r{ANiud 2201 m - 2500
-1
Presion de gas de entrada 17=15 176 27.4 176 27.4 176 27.4 176 27.4 176 27.4 176 27.4
(mbar) 20-18
24=21
-1 58 7 58 7 58 7 58 7 58 7 58 7
17-15 49 4.9 49 4.9 49 29 29 49 49 49 29 4.9
LO (mbar) £ 0.2 mbar 20-18 41 53 71 53 71 53 71 53 71 53 71 53
24=21 a1 53 a1 53 a1 53 a1 53 o1 53 71 53
T3-12 34 36 34 36 34 36 34 36 34 36 34 36
AO (velocidad ventilador) 17=15 40 30 40 30 40 30 40 30 40 30 40 30
+11ps 20-18 34 34 34 34 34 34 34 34 34 34 34 34
24=21 34 32 34 32 34 34 34 32 34 34 34 34
T3-12 108 5 568 3 94 126 92 122 5 1175 8.75 1145
L1 (mbar) £ 0.2 mbar 17-15 56 109 4.7 05 4.45 915 42 8.75 2.05 8.4 3.9 81
20-18 73 143 6.2 11.95 6 1082 58 103 55 9.9 5.3 9.5
24=21 B 166 6.8 13.85 6.5 13.25 6.25 1238 6.1 12.35 59 1185
T3-12 73 70 73 70 73 70 73 70 73 70 73 70
Al (velocidad de 17=15 68 64 68 64 68 64 68 64 68 64 68 64
ventilador) +1 rps 20-18 68 59 68 59 68 59 68 59 68 59 68 59
24=21 71 69 71 69 71 69 71 69 71 69 71 69
T3-12 23 25 23 25 23 25 23 25 23 25 23 25
17-15 16 2.9 16 2.9 16 2.9 16 2.9 16 2.9 16 2.9
L2 (mbar) £ 0.2 mbar 20-18 22 36 22 36 22 36 22 36 22 36 22 36
24=21 22 36 22 36 22 36 22 36 22 36 22 36
T3-12 20 33 70 33 70 33 70 33 70 33 70 33
A2 (velocidad de 17=15 6 38 26 38 26 38 26 38 26 38 26 38
ventilador) +1 rps 20-18 35 37 35 37 35 37 35 37 35 37 35 37
24=21 35 37 35 37 35 37 35 37 35 37 35 37




